NTA UGC NET AUG 2024 21st Aug to 04th Sep 2024

Application No

Candidate Name

Roll No.

Test Date 30/08/2024

Test Time 3:00 PM - 6:00 PM
Subject 58 Law

Comprehension:

The following tables shows the number of employees working in six different Offices (A-F) of an
IT Company during the years from 2018 to 2023. Based on the data in the table, answer the
questions that follow.

Year-wise Details of employees of an IT Company;

Number of Employees working in office
A B L5 D E F
2018 | 290 | 176 | 222 | 240 | 280 | 272

Year

2019 256 | 152 | 240 | 224 | 304 | 264
2020 272 | 192 | 264 | 248 | 316 | 280
2021 366 | 184 | 250 | 270 | 332 | 252
2022 320 | 214 | 280 | 236 | 340 | 292
2023 | 300 | 226 | 296 | 258 | 348 | 300

SubQuestion No : 1
QA1

For all the six given years, the difference between the average number of employees working in
office-D and office-E is

1.74
2.66
3.72

4.70

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 34212313145
Option 1 ID : 34212351205
Option 2 ID : 34212351206
Option 3 ID : 34212351207
Option 4 ID : 34212351208

Status : Answered

Chosen Option : 1
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Comprehension:

The following tables shows the number of employees working in six different Offices (A-F) of an
IT Company during the years from 2018 to 2023. Based on the data in the table, answer the
questions that follow.

Year-wise Details of employees of an IT Company,

Number of Emplovees working in office

A B (42 D E F

2018 290 | 176 | 222 | 240 | 280 | 272
2019 | 256 | 152 | 240 | 224 | 304 | 264
2020 272 | 192 | 264 | 248 | 316 | 280
2021) 366 | 184 | 250 | 270 | 332 | 232
2022 | 320 | 214 | 280 | 236 | 340 | 292
2023 300 | 226 | 296 | 258 | 348 | 300

Year

SubQuestion No : 2
Q2 In the year 2020, the number of emplovee working in office-C is approximately %
less than the total number of employees working in all the six offices together.

1.81
2.86
3.28
4.83

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 34212313144
Option 1 1D : 34212351201
Option 2 ID : 34212351202
Option 3 ID : 34212351203
Option 4 ID : 34212351204

Status : Answered

Chosen Option : 1




Comprehension:

The following tables shows the number of employees working in six different Offices (A-F) of an
IT Company during the years from 2018 to 2023. Based on the data in the table, answer the
questions that follow.

Year-wise Details of employees of an IT Company,

Number of Emplovees working in office

A B (42 D E F

2018 290 | 176 | 222 | 240 | 280 | 272
2019 | 256 | 152 | 240 | 224 | 304 | 264
2020 272 | 192 | 264 | 248 | 316 | 280
2021) 366 | 184 | 250 | 270 | 332 | 232
2022 | 320 | 214 | 280 | 236 | 340 | 292
2023 300 | 226 | 296 | 258 | 348 | 300

Year

SubQuestion No : 3
Qs In office-F, the percentage increase in the number of employees in comparison to previous year is
more than 6% for exactly -----------years(s)

1t
pi,
3.5
4.4

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 34212313146
Option 1 1D : 34212351209
Option 2 ID : 34212351210
Option 3 ID : 34212351211
Option 4 ID : 34212351212

Status : Answered

Chosen Option : 2




Comprehension:

The following tables shows the number of employees working in six different Offices (A-F) of an
IT Company during the years from 2018 to 2023. Based on the data in the table, answer the
questions that follow.

Year-wise Details of employees of an IT Company;

Number of Emplovees working in office

A B (42 D E F

2018 290 | 176 | 222 | 240 | 280 | 272
2019 | 256 | 152 | 240 | 224 | 304 | 264
2020 272 | 192 | 264 | 248 | 316 | 280
2021) 366 | 184 | 250 | 270 | 332 | 232
2022 | 320 | 214 | 280 | 236 | 340 | 292
2023 300 | 226 | 296 | 258 | 348 | 300

Year

SubQuestion No : 4
Q.4

In the years 2018 and 2019, the ratio between the number of employees working in all the six
offices together is

1.13:11
2.13:14
3.37:36

4. 4:3

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 34212313148
Option 1 1D : 34212351217
Option 2 ID : 34212351218
Option 3 ID : 34212351219
Option 4 ID : 34212351220

Status : Answered

Chosen Option : 3




Comprehension:

The following tables shows the number of employees working in six different Offices (A-F) of an
IT Company during the years from 2018 to 2023. Based on the data in the table, answer the
questions that follow.

Year-wise Details of employees of an IT Company;

Number of Emplovees working in office

A B (42 D E F

2018 290 | 176 | 222 | 240 | 280 | 272
2019 | 256 | 152 | 240 | 224 | 304 | 264
2020 272 | 192 | 264 | 248 | 316 | 280
2021) 366 | 184 | 250 | 270 | 332 | 232
2022 | 320 | 214 | 280 | 236 | 340 | 292
2023 300 | 226 | 296 | 258 | 348 | 300

Year

SubQuestion No : 5

Qs For all the six given years, what is the ratio of total number of employees working in Office- A to
that in office-B?
172k
2.41:26
3. 1911
4. 11:19
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 34212313147
Option 1 ID : 34212351213
Option 2 ID : 34212351214
Option 3 ID : 34212351215
Option 4 ID : 34212351216
Status : Answered
Chosen Option : 4
Q.6 . i . . L
Which of the following pair of acronym and its expansion is incorrectly matched?
1. MIDI- Musical Instrument Digital Interchange
2. LED- Light Emitting Diode
3. MPEG- Motion Pictures Experts Group
4. PDF- Portable Document Format
Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 34212313175
Option 1 ID : 34212351325
Option 2 ID : 34212351326
Option 3 ID : 34212351327
Option 4 ID : 34212351328

Status : Answered

Chosen Option : 1




Q.7
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Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 34212313173
Option 1 ID : 34212351317
Option 2 ID : 34212351318
Option 3 ID : 34212351319
Option 4 ID : 34212351320

Status : Answered

Chosen Option : 2

Qs In self-directed learning which of the following are the key features of self- directed students?

A. They have Intrinsic motivation.

B. They have the capacity to choose personal goals.
C. They have self- discipline.

D. They have self- assessment ability.

E. They have metacognitive skills.

Choose the most appropriate answer from the options given below:

1. Aand D only
2.Band E only
3.C,Dand E only
4.A.B.C,DandE

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 34212313150
Option 1 ID : 34212351225
Option 2 ID : 34212351226
Option 3 ID : 34212351227
Option 4 ID : 34212351228

Status : Answered

Chosen Option : 4




Q.9

Arrange the correlation coefficients computed from the following information on covariance i.e.
cov (x,y) and standard deviation O and 7. in increasing order.

Al cov(xy)=18.0,=4,0,=9
B. cov(xy)=150,=8,0,=3
C.cov(xy)=160,=7,0,=4
D. cov(x.y):ZI,crx =bg;=3

Choose the most appropriate answer from the options given below:

1.LA.C,B,D
2.B.C,D,A
3.C.B.A.D
4. D.B.AC
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 34212313157
Option 1 ID : 34212351253
Option 2 ID : 34212351254
Option 3 ID : 34212351255
Option 4 ID : 34212351256
Status : Answered
Chosen Option : 2
Q.10

ifed IR1 Yaiell fayfaenerd e S (g s O faFe, 2018 & SHER 2y Yoy o
e 8 U fhar Uid=d Tl U oH W 6 9 1 S5 318 & Hiae SR 2y
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1. 9%

2.13%
3.42%

4.47%
Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 34212313154
Option 1 1D : 34212351241
Option 2 ID : 34212351242
Option 3 ID : 34212351243
Option 4 ID : 34212351244

Status : Answered

Chosen Option : 4




Q.11 ,
In a certain languages:

“Sun rises in the East” is coded as “ST SR SI SH SS”

“Sun sets in the West”™ is coded as “ST SE SI SH SU”

“Your house faces East” 1s coded as; “SN SM SA SS”

“His house faces West” is coded as: "SC SM SA SU"

How the words “East”, and “West” are coded in this languages respectively?

1. SR, SE
2. 5858, SN
3.°88, 858U
4. SN, sC
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 34212313168
Option 1 ID : 34212351297
Option 2 ID : 34212351298
Option 3 ID : 34212351299
Option 4 ID : 34212351300
Status : Answered
Chosen Option : 3
Q.12

Find out the chronological order of the following British Authorities /Persons who took interest in
higher education in India.

A. Lord Curzon
B. Lord Ripon

C. Lord Canning
D. Lord Dalhousis

Choose the most appropriate answer from the options given below:
1.A,B,C,D
2:B; DA C
3D.C.B.A
4.C,D,A,B

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 34212313187
Option 1 1D : 34212351373
Option 2 ID : 34212351374
Option 3 ID : 34212351375
Option 4 ID : 34212351376

Status : Answered

Chosen Option : 1




Q.13
Arrange the following in the order of decreasing connotation.

A. Polygon
B. Rectangle
C. Geometry
D. Square

Choose the most appropriate answer from the options given below:
1.D.B,C.A
2.C,A,B.D
3.A.C,B.D

4.D.B.A.C

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 34212313171
Option 1 ID : 34212351309
Option 2 ID : 34212351310
Option 3 ID : 34212351311
Option 4 ID : 34212351312

Status : Answered

Chosen Option : 2




Q.14
Match the List-I with List-IT

LISTI LISTII
(Swayamprabha Channel Number) {Theme)
A | Channel 10 I. |Professional Education
B. |Channel 11 II. |Basic and Applied sciences
C. |Channel 12 III. | Social Sciences and Humanities
D. |Channel 13 IV. | Applied Sciences

Choose the correct answer from the options given below:
l. A-III, B-II. C-IV, D-1
2. A-TIV, B-II1, C-11, D-I
3. A-L B-II, C-IIL, D-IV

4. A-II, B-1V, C-I1I1, D-1

Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 34212313152
Option 1 1D : 34212351233
Option 2 ID : 34212351234
Option 3 ID : 34212351235
Option 4 ID : 34212351236
Status : Answered
Chosen Option : 1
Q.15

The Anglo- Indian Vidyalaya (college) was founded in Calcutta in 1816 by

1. The Christian missionaries
2. The local government
3. The East India company

4. The people of Calcutta

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 34212313184
Option 1 1D : 34212351361
Option 2 ID : 34212351362
Option 3 ID : 34212351363
Option 4 ID : 34212351364

Status : Answered

Chosen Option : 3




Q.16 Which of the following is/ are true?

A The average of given data is less than the greatest observation and greater than the smallest
observation of the given data.

B. If the observations of a given data are equal. then the average of the data may or may not be
same as the observations.

C. If all the observations of a given data get increased by x. then their average is also increased
by x.

D. If all the observations of a given data are divided by x, then their average may or may not
change.

Choose the meost appropriate answer from the options given below:

1. A B, Conly
2.B,C,Donly
3. A, Conly
4. D only
Options 1. 1
2.2
3.3
4.4
Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :
Chosen Option :

McQ
34212313165
34212351285
34212351286
34212351287
34212351288
Answered

3




Q.1

Options 1. 1
2.2
3.3
4.4

" e idaad TRl

A. 91D GARSHSdl & YHH
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E. W1l & 5@ U8 (31 Uo)) & JHH

e flGu U fad el § ¥ @@l TR &1 98 Difeie:

1. $dd A. B, C
2. Hdd A, B.C,D
3. WAAA.C.D
4.%dd B.C.D.E

Question Type :
Question ID
Option 11D :
Option 2 ID
Option 31D :
Option 4 ID

Status :
Chosen Option :

mcaQ

1 34212313161

34212351269

: 34212351270

34212351271

: 34212351272

Answered
4




Q.18

RS 3 g1 fafgd I SifHd YaR Hisa & drem s oHT 8

A
B. Cailidal
C. HISuA (UR)
D. DI
E. YR UF
Aid feu U fadhetl & ¥ @gT SR bl 99 BT
1A C TN E: B
2.C,D,E,A,B
3., E B A C
4. E: B.A; 1) C
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 34212313162
Option 1 ID : 34212351273
Option 2 ID : 34212351274
Option 3 ID : 34212351275
Option 4 ID : 34212351276
Status : Answered
Chosen Option : 2
Q19 Match the List-T with List-TT
LISTI LISTIT
(Concept) (Meaning)
A |Frames I | Organized sub- culture
Fusion I The belief that people are duped into blindly accepting the prevailing
ideology
False - .
{57 9 III. | A class of messages that share distinct characteristics
CONSCIOUSNESS
D. | Genre IV. | Social constructs
Choose the eorrect answer from the options given below:
1. A-I, B-II, C-III, D-IV
2. A-II. B-TII. C-IV. D-I
3. A-IIL, B-IV. C-1, D-II
4. A-IV, B-1. C-II. D-III
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 34212313163
Option 1 ID : 34212351277
Option 2 ID : 34212351278
Option 3 ID : 34212351279
Option 4 ID : 34212351280
Status : Answered
Chosen Option : 4




Q.20

The numerator of a fraction is 4 less than its denominator. If the numerator is decreased by 2 and
denominator is increased by 1, then the denominator becomes 8 times the numerator, find the
fraction.

1.3

X

(2]

= w
g elw oW

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 34212313166
Option 1 1D : 34212351289
Option 2 ID : 34212351290
Option 3 ID : 34212351291
Option 4 ID : 34212351292

Status : Answered

Chosen Option : 1

Q.21 . . . . .
The motivated forgetting of traumatic or other very threatening events is known as-

1. Repression
2. Proactive interference
3. Retroactive interference

4. Consolidation
Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 34212313151
Option 1 1D : 34212351229
Option 2 ID : 34212351230
Option 3 ID : 34212351231
Option 4 ID : 34212351232

Status : Answered

Chosen Option : 3




Q.22

Which of the following are considered as air pollutants?

A. Mist
B. Soot
C.Fog

D. Smog
E. Fly ash

Choose the most appropriate answer from the options given below:

1. A.Band D only
2.B.D and E only
3.C.Dand E only

4. A, B and E only

Options 1. 1

2.2
3.3
4.4

Question Type :
Question ID :

Option 1 ID

Option 3 ID

mcaQ
34212313183

: 34212351357
Option 21D :

34212351358

1 34212351359
Option 4 ID :
Status :

Chosen Option :

34212351360
Answered
2




Q.23
Match the List-T with List-IT

LISTI LISTII
(Scale of measurement) | (Example of variable)
A | Nominal I. | Weight of students
B. | Ordinal II. |Ethnicity
C. |Interval III. |Degree of annoyance
D. |Ratio IV. |Date of birth

Choose the correct answer from the options given below:
1. A-I, B-H, C-ITI, D-IV
2. A-I1. B-1II., C-1V, D-1
3. A-IIL B-IV, C-1, D-II

4. A-1V, B-1, C-II, D-III

Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 34212313158
Option 1 ID : 34212351257
Option 2 ID : 34212351258
Option 3 ID : 34212351259
Option 4 ID : 34212351260
Status : Answered
Chosen Option : 4
Q.24

Which of the following is a software that locks data files and demands a monetary payment in
exchange for unlocking?

1. Ransomware
2. Spyware
3. Logic Bomb

4. Trojan Horse

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 34212313174
Option 1 1D : 34212351321
Option 2 ID : 34212351322
Option 3 ID : 34212351323
Option 4 ID : 34212351324

Status : Answered

Chosen Option : 4




Q.25

Match the List-T with List-IT

IISTI LISTII
(ICT Terms) (Meaning)
A |Prnter I. | Volatile memory
B. |Scanner II. |Processor
C. |RAM III. | Output device
D. |CPU IV. | Input device

Choose the correct answer from the options given below:

1. A-II, B-III, C-IV, D-1
2. A1 B-IV, C-1, D-II
3. A-1, B-IL, C-IV, D-IIT

4. A-III, B-1V, C-II, D-I

Options 1. 1

2.2
3.3
4.4

Question Type :

Question ID

Option 2 ID

Option 4 ID

MmcaQ

134212313178
Option 11D :

34212351337

1 34212351338
Option 31D :

34212351339

1 34212351340
Status :
Chosen Option :

Answered
2




Q.26

U9 ABER &1 YA F9idRad &l &H & o [oU [l S o

L. dig UgHU]
2. olc] UgHU
3. g UGN
4. Hal E[gﬁl U]
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 34212313179
Option 1 ID : 34212351341
Option 2 ID : 34212351342
Option 3 ID : 34212351343
Option 4 ID : 34212351344
Status : Answered
Chosen Option : 1
Q.27
At 1P 1Y FET 1 & [HAH Hifole
T & I
(T 919 $ TR TEH) (@Y
A |3ug L |5l 59 & 98 USYRIRYG & 9HHE AR §
B e I |[gERE AR e
C. |Semw 1L | GaTd U oA & ol FRUAG S AR 8
D. |ufas IV. | SR g@ea TR E
Aid feu e faded! & 9 981 SR &1 99 Hifort:

1. A-II, B-IV, C-1, D-III
2. AJIL B-IV, C-1, D-II
3. AL B-I, C-IV, D-II

4, A-III, B-1I, C-1IV, D-1

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 34212313172
Option 1 ID : 34212351313
Option 2 ID : 34212351314
Option 3 ID : 34212351315
Option 4 ID : 34212351316

Status : Answered

Chosen Option : 2




Q.28

Which of the following countries were asked to reduce their green house emission by 5% below
the level of 1990 by 2012 in Kyoto protocol?

A. United States
B. India

C. Russia

D. Canada

E. China

Choose the most appropriate answer from the options given below:

1. A, Cand Donly
2. C,D and E only

3.B. C and E only

4. B and E only
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 34212313181
Option 1 1D : 34212351349
Option 2 ID : 34212351350
Option 3 ID : 34212351351
Option 4 ID : 34212351352
Status : Answered
Chosen Option : 3
Q.29 . . .
Arrange the phases of Inquiry -based learning approach in a sequence from Phase I to Phase V
A. Discussion
B. Orientation
C. Conceptualization
D. Conclusion
E. Investigation
Choose the most appropriate answer from the options given below:
1.5, B, D E
SR DIR, G
3.B.C.E.D.A
4.B,E,A,C,D
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 34212313149
Option 1 1D : 34212351221
Option 2 ID : 34212351222
Option 3 ID : 34212351223
Option 4 ID : 34212351224
Status : Answered
Chosen Option : 4




Q.30 . .
A researcher conducts a study on a population and obtains some results. He now wants to

generalize these results to a different population, For this, his measurements should show

1. External Validity
2. Internal Validity
3. Convergent Validity

4. Divergent Validity

Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 34212313155
Option 1 ID : 34212351245
Option 2 ID : 34212351246
Option 3 ID : 34212351247
Option 4 ID : 34212351248
Status : Answered
Chosen Option : 1
Q.31

The development of vitascope led to:

1. The silent film era
2. Video advertisements
3. The television network system

4. The arrival of computers

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 34212313160
Option 1 ID : 34212351265
Option 2 ID : 34212351266
Option 3 ID : 34212351267
Option 4 ID : 34212351268

Status : Answered

Chosen Option : 1




Q.32 e &-a1 Hgifdeed H Rig gy & FufeiEd fod guitis safdqdl gr1 fefdd gede gl

St 2t
A B 4R TEig
B. dlc aERIG
C. B R
D. I3 Hig-TRig dg
-t fag e fadbedt 7 ¥ #gT IR BT 9 DL
1.A,B.C.D
2. Had A 3R D
3. had AdRC
4. BB AR C
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 34212313186
Option 1 1D : 34212351369
Option 2 ID : 34212351370
Option 3 ID : 34212351371
Option 4 ID : 34212351372
Status : Answered
Chosen Option : 2
Q.33 . . . . L
‘Which one of the following personalities advocated western education for Indians in the early
nineteenth century?
1. Rajaram Mohan Roy
2. Lord Hardinge
3. Mahatma Gandhi
4. Rabindranath Tagore
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 34212313185
Option 1 ID : 34212351365
Option 2 ID : 34212351366
Option 3 ID : 34212351367
Option 4 ID : 34212351368
Status : Answered
Chosen Option : 2




Q.34

Which of the following tools would be most effective for a teacher wanting to poll students in
real- time during an online lecture?

A. Poll everywhere
B. Labster
C. Strawpoll
D. Mentimeter
E. Survey monkey
Choose the most appropriate answer from the options given below:
1.B. C and E only
2. B and C only
3.A.C.DandE only

4. C,D and E only

Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 34212313153
Option 1 ID : 34212351237
Option 2 ID : 34212351238
Option 3 ID : 34212351239
Option 4 ID : 34212351240
Status : Answered
Chosen Option : 3
Q.35

If (L)y; represents a number L in base- M number system, then identify the correct descending

order of the following numbers A-D when converted to decimal number system.

A (123);
B. (1211)3
C.(212)
D. (201)5

Choose the most appropriate answer from the options given below:
1.A.C,B.D
2.B,D,A,C
3.D,;B,; A

4.C.A.D.B

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 34212313176
Option 1 1D : 34212351329
Option 2 ID : 34212351330
Option 3 ID : 34212351331
Option 4 ID : 34212351332

Status : Answered

Chosen Option : 4




Q.36 A man sold an article at a profit of 6.5%. If he had sold the article for 2 1250 more, he would

have earned a profit of 10%. What is the cost price of the article?

1. £1,0000
2. 10,500
3. 9,000
4. 9,500
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 34212313167
Option 1 ID : 34212351293
Option 2 ID : 34212351294
Option 3 ID : 34212351295
Option 4 ID : 34212351296
Status : Answered
Chosen Option : 2
Q.37 . .
Which of the following statements are true?
A. Propositions or statements can be true or false.
B. Propositions can be valid or invalid.
C. A valid argument must contain only true premises.
D. A valid argument must have a true conclusion.
E. In a valid argument, if its premises are true, the conclusion cannot be false.
Choose the most appropriate answer from the options given below:
1. Aand E only
2.C, D and E only
3.D and E only
4. A, B, Cand D only
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 34212313170
Option 1 ID : 34212351305
Option 2 ID : 34212351306
Option 3 ID : 34212351307
Option 4 ID : 34212351308
Status : Answered
Chosen Option : 4




Q.38 <1 ql ity T3y & Tl B Iqd Adaal b1 S A {9 $i S I fa@hie g iR g0

Gt AT TR ST, g PG 30 9 TRAT e d1gd 3Hfeiy 87 g fay & |l ol dagda
TS e AN | U Skl T -1 HHADBRD ddh &Y g2

1. =T Hodiso

2. Ty e-1gad gar

3. 3 f§UTSH (HTeY SEdled)

4. HATRNTT 18T (TS gIAH)

Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 34212313169
Option 1 1D : 34212351301
Option 2 ID : 34212351302
Option 3 ID : 34212351303
Option 4 ID : 34212351304
Status : Answered
Chosen Option : 1
Q.39

TafaRUl & YENS dedl & SIfaH AT e S ol AgHd F1 82

A. ISYUNA 3fihad

B. HET 3fhAT 3idhad (SIo T TH¥He)
. SiRaH fidma

D. Y67 ®l UgdH

E. SIIRGH & T&f0l

i fGu U fashedl § O @81 3R &l 994 Do

1. D, A; B, E. €

2.D.,A.B,C.E
3.C,E.D,B,A

4 E.C.B.A.D
Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 34212313182
Option 1 ID : 34212351353
Option 2 ID : 34212351354
Option 3 ID : 34212351355
Option 4 ID : 34212351356

Status : Answered

Chosen Option : 1




Q.40

fFgfciRad & U fouH ¥ dr Sifidd Siadis | (&t 3 3 gidl 82
1. Ug 9

2. WG Yol od
3. Heftid gdol oid

4. TR 7 & ofd 7 &1 dig:Hd

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 34212313180
Option 11D : 34212351345
Option 2 ID : 34212351346
Option 3 ID : 34212351347
Option 4 ID : 34212351348

Status : Answered

Chosen Option : 3




Q.4

1 A 1P Ty G 11 T A By

1 I
A |wadgH L |3pidue
B. |udafer I |g9gmEs
C. |arye I | ¥ede g
D. | e IV. | AT

i feu U fadhed! & 9 I8! 3R &1 994 HIfT;
1. A-IV, BIL C-I, D-III
2. A-IV, B-1, C-IL, D-III
3. A-IIL B-L, C-IL D-IV

4. A-TIL B-I1, C-1, D-IV

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 34212313188
Option 1 1D : 34212351377
Option 2 ID : 34212351378
Option 3 ID : 34212351379
Option 4 ID : 34212351380

Status : Answered

Chosen Option : 3




Q.42 . . ; .
Which of the following software titles are examples of application software only?

A. MS- Excel

B. Android

C. Adobe Photoshop
D. 10S

E. Windows- 11

Choose the most appropriate answer from the options given below:

1. A, B and C only

2.Band D only

3. Aand C only
4. A and E only
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 34212313177
Option 1 1D : 34212351333
Option 2 ID : 34212351334
Option 3 ID : 34212351335
Option 4 ID : 34212351336
Status : Answered
Chosen Option : 3
Q.43

Identify the correct statements regarding web- based study of human subjects

A. It requires considerably more time per person than laboratory based study.
B. Data collection occurs at the convenience of the participant.
C. Data collection is automatic.

D. It can be conducted on participants who would have been out of reach of the researcher in
physical mode.
Choose the most appropriate answer from the options given below:
1. A,Band C only
2.B, C and D only
3. A, Cand D only
4. A, B and D only

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 34212313156
Option 1 ID : 34212351249
Option 2 ID : 34212351250
Option 3 ID : 34212351251
Option 4 ID : 34212351252

Status : Answered

Chosen Option : 4




Q.44
Find the missing term in the series given below:
L, 7,25,61,121, 7,337

1. 205
2.211
3.209
4. 208
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 34212313164
Option 1 1D : 34212351281
Option 2 ID : 34212351282
Option 3 ID : 34212351283
Option 4 ID : 34212351284
Status : Answered
Chosen Option : 2
Q.45

Access to information through the invention of print was responsible for the emergence of
1. Mediated class distinetion
2. Media monopoly
3. Mass media
4. Electronic device of interpersonal communication

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 34212313159
Option 1 1D : 34212351261
Option 2 ID : 34212351262
Option 3 ID : 34212351263
Option 4 ID : 34212351264

Status : Answered

Chosen Option : 1




Comprehension:

Read the following passage carefully and answer the questions that follow:

Nicotine is only found in tobacco and leads to cancer. But is it true? It is a natural ingredient
found in several plants. Various vegetables such as eggplant, tomatoes. potatoes among others,
also contain nicotine in trace amounts.

There are more than 7000 chemicals in cigarette smoke. Of these, at least 250 are known to be
harmful to health, such as hydrogen cyanide. carbon monoxide and ammonia. Some are natural
components of the tobacco plant itself, but most harmful substances are only formed on
combustion of tobacco and not by nicotine itself.

Products containing nicotine are often used to reduce anxiety, stress or depression. A survey in
the “Human Centric Approach to Tobacco Control’ report highlights that stress and anxiety
motivate tobacco consumption for 62% males and 40% females in tier [ cities.

Nicotine from cigarettes is absorbed into the lungs through inhalation of smoke. When nicotine
enters the body, it enters the circulatory system and reaches the brain within 20 seconds, causing
nerve stimulation resulting in feeling of euphoria.

The burden of cancer and tobacco related diseases is immense. A recent report by WHO suggests
that new cancer cases are likely to rise to at least thirty- five million in 2050, a 77% rise over the
cases diagnosed in 2022. In India, an estimated 1.4 million cancer cases were recorded in the
same year, while one in nine citizens could develop cancer in their lifetime.

SubQuestion No : 46

Q.46 . . N -
Therapeutic applications of Nicotine - containing products can be stated as follows:
1. They are used to increase physical strength
2. They are used to improve cognitive function.
3. They are used to reduce anxiety, stress and depression
4. They are mostly used as antibiotics
Options 1. 1
2.2
3.3
4.4
Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :
Chosen Option :

McQ
34212313192
34212351389
34212351390
34212351391
34212351392
Answered

2




Comprehension:

Read the following passage carefully and answer the questions that follow:

Nicotine is only found in tobacco and leads to cancer. But is it true? It is a natural ingredient
found in several plants. Various vegetables such as eggplant, tomatoes. potatoes among others,
also contain nicotine in trace amounts.

There are more than 7000 chemicals in cigarette smoke. Of these, at least 250 are known to be
harmful to health, such as hydrogen cyanide. carbon monoxide and ammonia. Some are natural
components of the tobacco plant itself, but most harmful substances are only formed on
combustion of tobacco and not by nicotine itself.

Products containing nicotine are often used to reduce anxiety, stress or depression. A survey in
the “Human Centric Approach to Tobacco Control’ report highlights that stress and anxiety
motivate tobacco consumption for 62% males and 40% females in tier [ cities.

Nicotine from cigarettes is absorbed into the lungs through inhalation of smoke. When nicotine
enters the body, it enters the circulatory system and reaches the brain within 20 seconds, causing
nerve stimulation resulting in feeling of euphoria.

The burden of cancer and tobacco related diseases is immense. A recent report by WHO suggests
that new cancer cases are likely to rise to at least thirty- five million in 2050, a 77% rise over the
cases diagnosed in 2022. In India, an estimated 1.4 million cancer cases were recorded in the
same year, while one in nine citizens could develop cancer in their lifetime.

SubQuestion No : 47
Q.47
What feelings does nicotine cause upon reaching the brain?

1. Sleepiness
2. Depression
3. Hunger

4. Euphoria

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 34212313194
Option 1 ID : 34212351397
Option 2 ID : 34212351398
Option 3 ID : 34212351399
Option 4 ID : 34212351400

Status : Answered

Chosen Option : 4




Comprehension:

Read the following passage carefully and answer the questions that follow:

Nicotine is only found in tobacco and leads to cancer. But is it true? It is a natural ingredient
found in several plants. Various vegetables such as eggplant, tomatoes. potatoes among others,
also contain nicotine in trace amounts.

There are more than 7000 chemicals in cigarette smoke. Of these, at least 250 are known to be
harmful to health, such as hydrogen cyanide. carbon monoxide and ammonia. Some are natural
components of the tobacco plant itself, but most harmful substances are only formed on
combustion of tobacco and not by nicotine itself.

Products containing nicotine are often used to reduce anxiety, stress or depression. A survey in
the “Human Centric Approach to Tobacco Control’ report highlights that stress and anxiety
motivate tobacco consumption for 62% males and 40% females in tier [ cities.

Nicotine from cigarettes is absorbed into the lungs through inhalation of smoke. When nicotine
enters the body, it enters the circulatory system and reaches the brain within 20 seconds, causing
nerve stimulation resulting in feeling of euphoria.

The burden of cancer and tobacco related diseases is immense. A recent report by WHO suggests
that new cancer cases are likely to rise to at least thirty- five million in 2050, a 77% rise over the
cases diagnosed in 2022. In India, an estimated 1.4 million cancer cases were recorded in the
same year, while one in nine citizens could develop cancer in their lifetime.

SubQuestion No : 48

Q.48 ‘What is the percentage of male in tier I cities who consume tobacco according to the *Human -
Centric Approach to Tobacco Control' report?
1.62%
2. 40%
3.50%
4. 80%
Options 1. 1
2.2
3.3
4.4
Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :
Chosen Option :

McQ
34212313193
34212351393
34212351394
34212351395
34212351396
Answered

1




Comprehension:

Read the following passage carefully and answer the questions that follow:

Nicotine is only found in tobacco and leads to cancer. But is it true? It is a natural ingredient
found in several plants. Various vegetables such as eggplant, tomatoes. potatoes among others,
also contain nicotine in trace amounts.

There are more than 7000 chemicals in cigarette smoke. Of these, at least 250 are known to be
harmful to health, such as hydrogen cyanide. carbon monoxide and ammonia. Some are natural
components of the tobacco plant itself, but most harmful substances are only formed on
combustion of tobacco and not by nicotine itself.

Products containing nicotine are often used to reduce anxiety, stress or depression. A survey in
the “Human Centric Approach to Tobacco Control’ report highlights that stress and anxiety
motivate tobacco consumption for 62% males and 40% females in tier [ cities.

Nicotine from cigarettes is absorbed into the lungs through inhalation of smoke. When nicotine
enters the body, it enters the circulatory system and reaches the brain within 20 seconds, causing
nerve stimulation resulting in feeling of euphoria.

The burden of cancer and tobacco related diseases is immense. A recent report by WHO suggests
that new cancer cases are likely to rise to at least thirty- five million in 2050, a 77% rise over the
cases diagnosed in 2022. In India, an estimated 1.4 million cancer cases were recorded in the
same year, while one in nine citizens could develop cancer in their lifetime.

SubQuestion No : 49

.49 . . . L
Q Which of the following statements accuracy describe the presence of nicotine in plants?
1. Nicotine is found in several plants, including some vegetables, in trace amounts
2. Nicotine is exclusively found in tobacco and not in any other plants
3. Nicotine is synthesized only in laboratories and not naturally found in plants
4. Nicotine is a by product of industrial processes and not naturally found
Options 1. 1
2.2
3.3
4.4
Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :
Chosen Option :

McQ
34212313190
34212351381
34212351382
34212351383
34212351384
Answered

1




Comprehension:
Read the following passage carefully and answer the questions that follow:

Nicotine is only found in tobacco and leads to cancer. But is it true? It is a natural ingredient
found in several plants. Various vegetables such as eggplant, tomatoes. potatoes among others,
also contain nicotine in trace amounts.

There are more than 7000 chemicals in cigarette smoke. Of these, at least 250 are known to be
harmful to health, such as hydrogen cyanide. carbon monoxide and ammonia. Some are natural
components of the tobacco plant itself, but most harmful substances are only formed on
combustion of tobacco and not by nicotine itself.

Products containing nicotine are often used to reduce anxiety, stress or depression. A survey in
the “Human Centric Approach to Tobacco Control’ report highlights that stress and anxiety
motivate tobacco consumption for 62% males and 40% females in tier [ cities.

Nicotine from cigarettes is absorbed into the lungs through inhalation of smoke. When nicotine
enters the body, it enters the circulatory system and reaches the brain within 20 seconds, causing
nerve stimulation resulting in feeling of euphoria.

The burden of cancer and tobacco related diseases is immense. A recent report by WHO suggests
that new cancer cases are likely to rise to at least thirty- five million in 2050, a 77% rise over the
cases diagnosed in 2022. In India, an estimated 1.4 million cancer cases were recorded in the
same year, while one in nine citizens could develop cancer in their lifetime.

SubQuestion No : 50

Q.50 . : :
Which of the following harmful substances are produced upon combustion of tobacco?
1. Hydrogen eyanide and methane
2. Carbon monoxide and carbon dioxide
3. Nicotine and ammonia
4. Hydrogen cyanide, carbon monoxide and ammonia
Options 1. 1
2.2
3.3
4.4
Question Type :
Question ID :
Option 11D :
Option 2 ID :
Option 31D :
Option 4 ID :
Status :
Chosen Option :

McQ
34212313191
34212351385
34212351386
34212351387
34212351388
Answered

4
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